Pedigree I

Follow these instructions for each problem:

· Draw a pedigree chart for the following on a separate piece of paper.

· Give all genotypes when possible.  

· Shade in those individuals with two recessive genes.  

· Half shade the individuals that are carriers of the recessive gene.  

· Use question marks when you cannot determine one or both genes for an individual.

Non-sex linked:

1.
Tongue rollers (R) are dominant over non-rollers (r).  A non-roller male married a roller female.  They had three boys and a girl.  The girl is a non-roller.  All of the boys are rollers.  Son #1 marries a roller female and they have two non-roller girls.  Son #2 marries a roller female and they have a non-roller boy.  This non-roller grandson marries a roller female and they have two boys and a girl.  The girl and one of the boys are rollers, while the other boy is a non-roller.
2.
Near-sightedness is a recessive disorder in humans, not being near-sighted we will call “normal”.  Three children, two boys and a girl, are not near-sighted.  Their mother is normal and has two normal brothers.  Their maternal grandparents are both normal.  Their maternal grandmother has a normal sister and a normal brother.  
The three children’s father is near-sighted and has two sisters, one of which is near-sighted.  Their paternal grandparents are both normal.  Their paternal grandmother had a near-sighted sister and two normal brothers.  Both sets of paternal great-grandparents are normal.

Sex-linked:

3.
Colorblindness is a recessive sex-linked disorder.  (C=Normal, c=Colorblind) A colorblind married a normal female.  They had two normal boys and a normal girl.  The daughter married a normal male and they had a colorblind son.
4.
Hemophilia is a serious recessive sex-linked disorder.  It results in the failure of blood to clot.  A normal couple had a hemophilic boy and a normal girl.  The daughter married a normal man.  They had two hemophilic sons, a normal daughter and a normal son.  The oldest hemophilic son married a normal female and they had a hemophilic son.
Pedigree II

Follow these instructions for each problem:

· Draw a pedigree chart for the following on a separate piece of paper.

· Give all genotypes when possible.  

· Shade in those individuals with two recessive genes.  

· Half shade the individuals that are carriers of the recessive gene.  

· Use question marks when you cannot determine one or both genes for an individual.

Non-sex linked:

1.
One form of dwarfism is caused by a recessive gene (D=normal, d= dwarf).  A Normal male and a normal female marry and have 3 girls and 1 boy.  The first girl is a dwarf.  The dwarf marries a normal male and they have one boy who is a dwarf.  The boy marries a dwarf female and they have 4 boys and 1 girl, all dwarfs.

2.
A recessive gene causes near- sightedness.  Two nearsighted people marry.  They have 3 boys and 1 girl.  All of them are nearsighted.  The first boy marries a normal female and has two girls, both are normal.  The second boy marries a nearsighted female and the have one nearsighted daughter.  The girl marries a normal male and has 1 nearsighted boy and a normal girl.  The nearsighted granddaughter marries a normal male and they have a nearsighted son.

Sex-linked:

3.
(C=Normal, c=Colorblind) A normal couple have 2 boys and one girl, one of the boys is colorblind.  He marries a normal female and they have a normal son and a colorblind daughter.  The original parent’s daughter marries a colorblind male and has a colorblind son and a normal daughter.  That daughter marries a normal male and has a son and daughter, the son is colorblind.

4.
A bald male marries a normal female.  They have two sons and 1 daughter.  The two sons are normal and the daughter is bald.  The first son marries a normal female and has 1 son and 1 daughter.  The grandson is bald and the granddaughter is normal.  The daughter marries a normal man and has 1 son and 1 daughter.  The boy is bald and the girl is normal.  The granddaughter marries a normal male and has three bald sons.

